Insert CTE Program Name here (insert CIP code here) T-Chart                                                          

	Type in POS Math descriptor here
	=  
	Write functions or sequences that model relationships between two quantities 

	Program Task:  Enter POS task here.
	PA Core Standard: CC.2.2.HS.C.3
Description:  Write functions or sequences that model relationships between two quantities.

	Program Associated Vocabulary:
ENTER PROGRAM VOCABULARY HERE 
	Math Associated Vocabulary:
SLOPE, RISE, RUN, RATE OF CHANGE, LINE, ΔX,  ΔY

	Program Formulas and Procedures:
Display program example of math concept by entering text, graphic, and formulas in this column.
	Formulas and Procedures:
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Example:  To find the slope of the line above:

Step1:  Label your coordinates (x1, y1) and (x2, y2).
Note:  It does not matter which coordinate you select to represent (x1, y1) and (x2, y2)

For our example, we’ll make (x1, y1) = (1,2) and (x2, y2) = (5,3)

Step 2:  Substitute values into the formula and solve.

[image: image3.wmf]21

21

y-y

321

slope=

x-x514

-

==

-


Note:  Slope is written as a fraction in simplest form.




	Instructor's Script – Comparing and Contrasting

The Math or program area instructor should fill in this area by comparing academic math problems to lab area problems. The instructor should describe ways that career and technical program math is similar to or different from the academic math that occurs in the PA Core Math standard or on Keystone related exams.


	Common Mistakes Made By Students
Often students forget that the y-coordinates go in the numerator and the x-coordinates go in the denominator.
Students will often not subtract consistently among y and x values.  For instance, for the slope of a line passing through the points (3, 5) and (-1,7):
   (3, 5) and (-1,7)                                   (3, 5) and (-1,7)


        
[image: image4.wmf])

1

(

3

5

7

-

-

-

   or 
[image: image5.wmf]3

1

7

5

-

-

-

            instead of the correct answer:        
[image: image6.wmf])

1

(

3

7

5

3

1

5

7

-

-

-

-

-

-

or



  (3, 5) and (-1,7)                                   (3, 5) and (-1,7)



	CTE Instructor’s Extended Discussion

The CTE instructor may add comments here describing the importance of this math skill in relationship to the program task, or note common problems which students have when making the computations.


	Problems                Career and Technical Math Concepts            Solutions

	1. Program relevant problem
	Allow work space here

	2. Program relevant problem
	Allow work space here

	3. Program relevant problem
	Allow work space here

	Problems                       Related, Generic Math Concepts                      Solutions

	4. A ramp increases from ground level to a height of 5 feet over a span of 20 feet.  What is the slope (rate of change) of the ramp?
	

	5. Determine the slope of the line graphed at the right:
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	6. A sidewalk increases from ground level to a height of 3 feet over a span of 40 feet.  What is the slope (rate of change) of the sidewalk?
	

	Problems                                   PA Core Math Look                                   Solutions

	7. Find the slope of a line passing through the points (3, 5) and (2, 1).
	

	8. Find the slope of a line passing through the points (-2, 1) and (4,-5).
	

	9. Find the slope of a line passing through the points (4, 2) and (-5, 6).
	


	Problems                Career and Technical Math Concepts            Solutions

	1. Program relevant problem
	Allow work space here



	2. Program relevant problem
	Allow work space here



	3. Program relevant problem
	Allow work space here



	Problems                       Related, Generic Math Concepts                      Solutions

	4. A ramp increases from ground level to a height of 5 feet over a span of 20 feet.  What is the slope (rate of change) of the ramp?
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	5. Determine the slope of the line graphed at the right:
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	6. A sidewalk increases from ground level to a height of 3 feet over a span of 40 feet.  What is the slope (rate of change) of the sidewalk?
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	Problems                                   PA Core Math Look                                   Solutions

	7. Find the slope of a line passing through the points (3, 5) and (2, 1).
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	8. Find the slope of a line passing through the points (-2, 1) and (4,-5).
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	9. Find the slope of a line passing through the points (4, 2) and (-5, 6).
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